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Q. 1 – Q. 5 carry one mark each. 

Θ.1 Αν αππλε χοστσ Ρσ. 10. Αν ονιον χοστσ Ρσ. 8.  

 

Σελεχτ τηε mοστ συιταβλε σεντενχε ωιτη ρεσπεχτ το γραmmαρ ανδ υσαγε.  

(Α)   Τηε πριχε οφ αν αππλε ισ γρεατερ τηαν αν ονιον. 

 

(Β)   Τηε πριχε οφ αν αππλε ισ mορε τηαν ονιον. 

 

(Χ)   Τηε πριχε οφ αν αππλε ισ γρεατερ τηαν τηατ οφ αν ονιον. 

 

(D)   Αππλεσ αρε mορε χοστλιερ τηαν ονιονσ. 

 

 

 

Θ.2 Τηε Βυδδηα σαιδ, �Ηολδινγ ον το ανγερ ισ λικε γρασπινγ α ηοτ χοαλ ωιτη τηε ιντεντ οφ τηροωινγ ιτ ατ 

σοmεονε ελσε; ψου αρε τηε ονε ωηο γετσ βυρντ.� 

 

Σελεχτ τηε ωορδ βελοω ωηιχη ισ χλοσεστ ιν mεανινγ το τηε ωορδ υνδερλινεδ αβοϖε. 

 

(Α)   βυρνινγ (Β)   ιγνιτινγ (Χ)   χλυτχηινγ (D)   φλινγινγ 

 

 

Θ.3 M ηασ α σον Q ανδ α δαυγητερ R. Ηε ηασ νο οτηερ χηιλδρεν. E ισ τηε mοτηερ οφ P ανδ δαυγητερ−ιν−

λαω οφ M. Ηοω ισ P ρελατεδ το M? 

 

(Α)   P ισ τηε σον−ιν−λαω οφ M. (Β)   P ισ τηε γρανδχηιλδ οφ M. 

 

(Χ)   P ισ τηε δαυγητερ−ιν λαω οφ M. (D)   P ισ τηε γρανδφατηερ οφ M. 

 

 

Θ.4 Τηε νυmβερ τηατ λεαστ φιτσ τηισ σετ: (324, 441, 97 ανδ 64) ισ ________. 

 

(Α)   324 (Β)   441 (Χ)   97 (D)   64 

 

 

Θ.5 Ιτ τακεσ 10 σ ανδ 15 σ, ρεσπεχτιϖελψ, φορ τωο τραινσ τραϖελλινγ ατ διφφερεντ χονσταντ σπεεδσ το 

χοmπλετελψ πασσ α τελεγραπη ποστ. Τηε λενγτη οφ τηε φιρστ τραιν ισ 120 m ανδ τηατ οφ τηε σεχονδ τραιν ισ 

150 m. Τηε mαγνιτυδε οφ τηε διφφερενχε ιν τηε σπεεδσ οφ τηε τωο τραινσ (ιν m/σ) ισ ____________. 

 

(Α)   2.0 (Β)   10.0 (Χ)   12.0 (D)   22.0 
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Q. 6 – Q. 

Θ.6 Τηε

ρεσπ

ινχρ

 

 

(Α)

 

 

Θ.7 Τηε

Ηεα

δογ

 

Wη

(Α)

 

(Β)

 

(Χ)

 

(D)

 

 

Θ.8 Α φ

ενϕ

ψου

τηε 

 

(Α)

 

 

Θ.9 Φιν

(Α)

ΓΑΤΕ 2016 
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πτιτυδε − ΓΑ Σετ−4

2/3
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Θ.10 Α στραιγητ λινε ισ φιτ το α δατα σετ (λν x, y). Τηισ λινε ιντερχεπτσ τηε αβσχισσα ατ λν x = 0.1 ανδ ηασ α 

σλοπε οφ −0.02. Wηατ ισ τηε ϖαλυε οφ y ατ x = 5 φροm τηε φιτ? 

 

(Α) −0.030 (Β) −0.014 (Χ) 0.014 (D) 0.030 

 

 

END OF THE QUESTION PAPER 
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Q. 1 – Q. 25 carry one mark each. 

Θ.1 [ΧπΜοΧλ2]2 οβεψσ τηε 18 ελεχτρον ρυλε. Τηε χορρεχτ στρυχτυρε οφ τηισ χοmπουνδ ισ 

(ατοmιχ νυmβερ οφ Μο = 42) 

(Α) 

 

(Β)  

 
(Χ) 

Mo Mo

Cl

Cl

Cl

Cl

(D) 

 

 

 

Θ.3 Αmονγ τηε φολλοωινγ, τηε mοστ σταβλε ισοτοπε το ραδιοαχτιϖε δεχαψ ισ 

(Α) 

        

(Β) 

        

(Χ) 

     

(D) 

         

 

Θ.4 Ατ πΗ 7.2 ανδ 10 Τορρ οξψγεν παρτιαλ πρεσσυρε, τηε εξτεντ οφ Ο2 βινδινγ ισ  

(Α) ηιγη φορ βοτη ηεmογλοβιν ανδ mψογλοβιν 

(Β) ηιγη φορ ηεmογλοβιν ανδ λοω φορ mψογλοβιν 

(Χ) ηιγη φορ mψογλοβιν ανδ λοω φορ ηεmογλοβιν 

(D) λοω φορ βοτη ηεmογλοβιν ανδ mψογλοβιν 

 

Θ.5 Ιν τηε φιρστ ροω ηιγη−σπιν τρανσιτιον mεταλ χοmπλεξεσ [Μ(Η2Ο)6]Χλ2 ωιτη δ5 ανδ δ7 mεταλ ιονσ, τηε  

δ−δ τρανσιτιονσ αρε 

(Α)  σπιν−φορβιδδεν φορ βοτη  

(Β)  σπιν−αλλοωεδ φορ βοτη  

(Χ)  σπιν−φορβιδδεν φορ δ5 ανδ σπιν−αλλοωεδ φορ δ7  

(D)  σπιν−αλλοωεδ φορ δ5 ανδ σπιν−φορβιδδεν φορ δ7  

 

 

Θ.6 Αmονγ τηε γιϖεν βορανεσ ανδ ηετεροβορανεσ, τηε εξαmπλε ωηιχη βελονγσ το ∋χλοσο∋ τψπε ισ 

(Α)   Β5Η8
[Χ2Β9Η11]  (Β)  ࡳ 

2  ΓεΧ2Β9Η11 (D)  Β6Η10   (Χ) ࡳ

 

Θ.2 Dυρινγ οξψγεν τρανσπορτ βψ ηεmερψτηριν, οξψγεν ισ βουνδ ασ  

(Α) Ο2
 το ονε Φε(ΙΙΙ) ονλψ   ࡳ 

(Β) ΗΟ2
 το ονε Φε(ΙΙΙ) ονλψ  ࡳ 

(Χ) Ο2
 το ονε Φε(ΙΙ) ανδ ονε Φε(ΙΙΙ)  ࡳ 2

(D) Ο2
 το τωο Φε(ΙΙ)   ࡳ 2
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Θ.7 Τηε ρεαχτιον οφ Π2Ο5  ωιτη ΗΝΟ3 ανδ ΗΧλΟ4, ρεσπεχτιϖελψ, γιϖεσ 

    

(Α)  ΝΟ2 ανδ ΧλΟ2 

(Β)  Ν2Ο5 ανδ Χλ2Ο6 

(Χ)  Ν2Ο3 ανδ Χλ2Ο7

(D)  Ν2Ο5 ανδ Χλ2Ο7 

  

 

 

Θ.9 Ονε mολε οφ αν ιδεαλ γασ ισ χοmπρεσσεδ φροm 5 Λ το 2 Λ ατ χονσταντ τεmπερατυρε. Τηε χηανγε ιν 

εντροπψ, ιν ϑ Κ−1, οφ τηε γασ ισ ____________. (Ρ = 8.314 ϑ Κ−1 mολ−1) 

 

Θ.10 Τηε λινεαρ mοmεντυm οφ α παρτιχλε δεσχριβεδ βψ τηε ωαϖεφυνχτιον ݁ି௜௞௫ ισ 

 

(Α) ݄݇ (Β) െ݄݇ 

(Χ)	݇԰ (D) െ݇԰ 

 

 

Θ.11 Φορ αν ελεmενταρψ βιmολεχυλαρ γασ πηασε ρεαχτιον, αχτιϖατιον ενεργψ ισ 5.5 κϑ mολ−1. Εντηαλπψ οφ 

αχτιϖατιον, ιν κϑ mολ−1, ατ 300 Κ ισ  _____________. (Ρ = 8.314 ϑ Κ−1 mολ−1) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Θ.8 Wηεν χρψσταλσ οφ σοδιυm χηλοριδε αρε ηεατεδ ιν τηε πρεσενχε οφ σοδιυm ϖαπορ, τηεψ τυρν ψελλοω. 

Τηισ ισ δυε το τηε φορmατιον οφ 

(Α)  Σχηοττκψ δεφεχτσ 

(Β)  Φρενκελ δεφεχτσ 

(Χ)  Φ−χεντρεσ 

(D)  Η−χεντρεσ 
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Θ.12 Τηε τιτρατιον οφ α στρονγ αχιδ ωιτη α στρονγ βασε ισ ρεπρεσεντεδ βψ τηε πλοτ 

 

(Α) (Β) 

(Χ) (D) 

 

 

 

 

 

Θ.13 Οφ τηε φολλοωινγ ινεθυαλιτιεσ, τηε χριτεριον/χριτερια φορ σποντανειτψ οφ α χηεmιχαλ ρεαχτιον ισ/αρε 

(ι) ሺοܩሻ்ǡ௉	 ൏ Ͳ     (ιι) ሺοܷሻௌǡ௏ ൐ Ͳ      (ιιι) ሺοܵሻ௎ǡ௏ ൐ Ͳ 

 

(Α)   (ι) ονλψ (Β)   (ιι) ονλψ (Χ)  (ι) ανδ (ιι) (D)  (ι) ανδ (ιιι) 

 

 

 

Θ.14 Α προτειν σαmπλε χονσιστσ οφ αν εθυιmολαρ mιξτυρε οφ ριβονυχλεασε (mολαρ mασσ = 13.7 κγ mολ1ޤ), 

ηεmογλοβιν (mολαρ mασσ = 15.5 κγ mολ1ޤ), ανδ mψογλοβιν (mολαρ mασσ = 17.2 κγ mολ1ޤ). Τηε 

στατεmεντ τηατ ισ τρυε αβουτ τηε ωειγητ−αϖεραγε mολαρ mασσ (ܯ௪തതതതത), τηε νυmβερ−αϖεραγε mολαρ mασσ 

 ανδ τηε πολψδισπερσιτψ ινδεξ (ΠDΙ) φορ τηισ σαmπλε ισ ,(௡തതതതܯ)

 

(Α) ܯ௪തതതതത > ܯ௡തതതത = 15.5 κγ mολ1ޤ ανδ ΠDΙ > 1 (Β) ܯ௪തതതതത > ܯ௡തതതത = 15.5 κγ mολ1ޤ ανδ ΠDΙ < 1 

(Χ) ܯ௪തതതതത = 15.5 κγ mολܯ < 1ޤ௡തതതത ανδ ΠDΙ > 1 (D) ܯ௪തതതതത = 15.5 κγ mολܯ > 1ޤ௡തതതത ανδ ΠDΙ < 1 
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Θ.15 Τηε βανδ στρυχτυρε γιϖεν βελοω ρεπρεσεντσ α 

 

 
 

(Α) ν−τψπε σεmιχονδυχτορ φορmεδ βψ δοπινγ Σι ωιτη Β  

(Β) ν−τψπε σεmιχονδυχτορ φορmεδ βψ δοπινγ Σι ωιτη Π 

(Χ) π−τψπε σεmιχονδυχτορ φορmεδ βψ δοπινγ Σι ωιτη Π 

(D) π−τψπε σεmιχονδυχτορ φορmεδ βψ δοπινγ Σι ωιτη Β 

 

 

Θ.16 Τηε εξπεριmενταλ ιονιζατιον ενεργιεσ οφ ηψδρογεν ανδ ηελιυm ατοmσ ιν τηειρ γρουνδ στατεσ αρε, 

ρεσπεχτιϖελψ, 13.6 ες ανδ 24.6 ες. Τηε γρουνδ στατε ενεργψ οφ ηελιυm ατοm, ιν ες, ισ  

(Α) െ ଵଶ(13.6) 24.6 ޤ  (Β) െ4(13.6) 24.6 ޤ 

(Χ) െ ଵସ (13.6) 24.6 ޤ  (D) െ2(13.6) 24.6 ޤ  

 

 

Θ.17 Ρινγ φλιππινγ οφ τηε χοmπουνδ ιν τηε φολλοωινγ χονφορmατιον λεαδσ το 

 

 
 

(Α) 

 
  

 

(Β) 

 
 

(Χ) 

 

(D) 

 
  

 

Θ.18 Τηε τοταλ νυmβερ οφ λινεσ εξπεχτεδ (δυε το σπιν−σπιν χουπλινγ οφ προτον ωιτη φλυορινε ανδ δευτεριυm 

νυχλει) ιν τηε 1Η ΝΜΡ σπεχτρυm οφ τηε φολλοωινγ χοmπουνδ ισ __________. 
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Θ.19 Τηε χοmπουνδ ιν ∋Ρ∋ χονφιγυρατιον ισ 

(Α) 

 
 

(Β) 

 
 

(Χ) 

 

(D) 

 
 

 

 

 

Θ.20 Τηε mοστ συιταβλε ρεαγεντ φορ περφορmινγ τηε φολλοωινγ τρανσφορmατιον, ισ  

 

 
 

(Α) ΛιΑλΗ4 (Β) Η2, Πδ/Χ (Χ)  ΠΠη3, Η2Ο (D)  Λι, λιθ. ΝΗ3 

 

 

 

Θ.21 Τηε mαϕορ προδυχτ οβταινεδ ιν τηε φολλοωινγ ρεαχτιον, ισ 

 

(Α) 

 
 

(Β) 

 
 

 

(Χ) 

 

(D) 
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Θ.22 Τηε φαϖουραβλε τρανσιτιον στατε λεαδινγ το τηε φορmατιον οφ τηε προδυχτ ιν τηε φολλοωινγ ρεαχτιον, ισ 

 

 
 

 

(Α) 

 

(Β) 

 
(Χ) 

 

(D) 

 
 

 

 

 

 

 

 

Θ.23 Τηε mαϕορ προδυχτ οφ τηε φολλοωινγ ρεαχτιον, ισ 

 

 
 

(Α) 

 

(Β) 

 

(Χ) 

 

(D) 
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Θ.24 Τηε mαϕορ προδυχτ οβταινεδ ιν τηε φολλοωινγ ρεαχτιον, ισ 

 

 
 

(Α) 

 

(Β) 

 
 

(Χ) 

 

(D) 

 
 

 

 

 

 

Θ.25 Τηε mαϕορ προδυχτ φορmεδ ιν τηε φολλοωινγ ρεαχτιον, ισ 

 

 
 

(Α) 

 

(Β) 

 
 

(Χ) 

 
 

(D) 
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Q. 26 – Q. 55 carry two marks each. 

 

Θ.26 Τηε Λαρmορ φρεθυενχψ οφ 1Η ατ 1 Τεσλα (Τ) ισ 42.57 ΜΗζ. Ιφ τηε mαγνετογψριχ ρατιοσ φορ 1Η ανδ 13Χ 

αρε 26.75 ⋅ 107 ραδ Τ−1 σ−1 ανδ 6.72  ⋅ 107 ραδ Τ−1 σ−1, ρεσπεχτιϖελψ, τηε Λαρmορ φρεθυενχψ οφ 13Χ, ιν 

ΜΗζ, ατ 1 Τεσλα ωιλλ βε __________. 

 

 

Θ.27 Ατ 1 βαρ ανδ 298 Κ, φορ τηε προχεσσ ܣሺݏሻ ื  ሺ݈ሻ, τηε ∆Γ ισ 200 ϑ mολ−1 ανδ τηε ∆ςm ισ െ2 ⋅ 10−6ܣ

m3 mολ−1. Τηε mινιmυm πρεσσυρε, ιν βαρ, ατ ωηιχη τηε προχεσσ βεχοmεσ σποντανεουσ ατ 298 Κ ισ 

_________. (1 βαρ = 105 Πα) 

 

 

Θ.28 Τηε ρεαχτιον, ܣ ֕  ισ φιρστ ορδερ ιν βοτη τηε διρεχτιονσ. Τηε φορωαρδ ανδ ρεϖερσε ρατε χονσταντσ αρε ,ܤ

4.2 ⋅ 10−4 σ−1 ανδ 1.04 ⋅ 10−3 σ−1, ρεσπεχτιϖελψ. Τηε ρελαξατιον τιmε φορ τηισ ρεαχτιον, ιν σεχονδσ, ιν α 

τεmπερατυρε ϕυmπ εξπεριmεντ ισ _____________. 

 

 

Θ.29 Αδσορπτιον οφ ΧΟ ον χηαρχοαλ ατ 273 Κ φολλοωσ Λανγmυιρ ισοτηερm. Α πλοτ οφ Π (κΠα) / ς (χm3) 

ϖερσυσ Π (κΠα) ισ λινεαρ ωιτη α σλοπε οφ 0.01 ανδ ψ−ιντερχεπτ οφ 0.5. Τηε εθυιλιβριυm χονσταντ, Κ 

(κΠα−1), φορ τηε αδσορπτιον ισ ___________. 

 

Θ.30 Φορ τηε φολλοωινγ ρεαχτιον,  

 

 
 

ιφ στεαδψ στατε αππροξιmατιον χαν βε αππλιεδ ον [Ι], τηε οβσερϖεδ ρατε χονσταντ οφ προδυχτ φορmατιον, 

ιν Λ mολ−1 σ−1, ωιλλ βε __________. 

 

Θ.31 Τηε χορρεχτ σετ οφ ινφρα−ρεδ σπεχτραλ βανδσ (ιν χm−1) φορ τηε ȞΧΟ στρετχηινγ mοδε οφ τηε γιϖεν 

χαρβονψλ χοmπλεξ ισ 

(Α) 1827, 1783, 1766 

(Β) 1973, 1827, 1794 

(Χ) 1833, 1775, 1650 

(D) 1960, 1918 

 

 

Θ.32 Τηε 19Φ ΝΜΡ σπεχτρυm οφ ΧλΦ3 ωηεν mεασυρεδ ατ െ60 ≡Χ ωιλλ βε οβσερϖεδ ασ  α 

(Α) σινγλετ 

(Β) δουβλετ 

(Χ) δουβλετ ανδ α τριπλετ 

(D) δουβλετ οφ δουβλετ ανδ α δουβλετ οφ τριπλετ 
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Θ.33 Αmονγ τηε γιϖεν πλατινυm(ΙΙ) χοmπλεξεσ, τηε ονε τηατ ισ τηερmαλλψ τηε most unstable ισ 

 

(Α) (Β) 

 

(Χ) 

 

 
 

(D) 

 

 

 

 

Θ.34 Τηε σηαπεσ οφ ΞεΦ5
+ ανδ ΞεΦ5

 ρεσπεχτιϖελψ, αρε , ࡳ 

(Α) πενταγοναλ πλαναρ ανδ σθυαρε πψραmιδαλ 

(Β) πενταγοναλ πλαναρ ανδ τριγοναλ βιπψραmιδαλ 

(Χ) σθυαρε πψραmιδαλ ανδ πενταγοναλ βιπψραmιδαλ 

(D) σθυαρε πψραmιδαλ ανδ πενταγοναλ πλαναρ 

 

 

 

Θ.35 Σοδιυm σαλτσ οφ πσευδοηαλογενσ X, Y, ανδ Z φορm χολουρλεσσ σολυτιονσ ιν ωατερ. Σολυτιον οφ X 

δεχολοριζεσ Ι3
 σολυτιον ωιτη βρισκ εφφερϖεσχενχε. Σολυτιον οφ Y γιϖεσ αν ιντενσε ρεδ χολουρ ον ޤ

ρεαχτιον ωιτη Φε3+ σολυτιον. Σολυτιον οφ Z γιϖεσ αν ιντενσε βλυε χολουρ ον ρεαχτιον ωιτη α σολυτιον 

χονταινινγ Φε3+ ανδ Φε2+ ιονσ. Τηε πσευδοηαλογενσ X, Y, ανδ Z, ρεσπεχτιϖελψ, αρε 

 

(Α) ΧΝޤ, Ν3
−, ανδ ΧΝΣ− 

(Β) Ν3
−, ΧΝΣ−, ανδ ΧΝޤ 

(Χ) Ν3
−, ΧΝޤ, ανδ ΧΝΣ− 

(D) Ν3
−, ΧΝΣޤ, ανδ ΧΝΟ− 

 

 

 

Θ.36 Ον ρεαχτινγ 1.55 γ οφ α διολ ωιτη αν εξχεσσ οφ mετηψλmαγνεσιυm ιοδιδε, 1.12 Λ (χορρεχτεδ το ΣΤΠ) 

οφ mετηανε γασ ισ λιβερατεδ. Τηε mολεχυλαρ mασσ (γ mολ−1) οφ τηε διολ ισ ____________. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016                                                                                                                                                                                                         Χηεmιστρψ 

ΧΨ 10/19

Θ.37 Τηε στρυχτυρε οφ τηε χοmπουνδ ηαϖινγ τηε φολλοωινγ χηαραχτεριστιχ σπεχτραλ δατα, ισ 

ΙΡ: 1690 χm−1;  
1Η−ΝΜΡ: 1.30 (3Η, τ, ϑ = 7.2 Ηζ); 2.41 (2Η, θ, ϑ = 7.2 Ηζ); 2.32 (3Η, σ); 7.44 (1Η, τ, ϑ = 7.0 Ηζ); 

7.57 (1Η, δτ, ϑ = 7.0, 3.0 Ηζ); 7.77 (1Η, τ, ϑ = 3.0 Ηζ); 7.90 (1Η, δτ, ϑ = 7.0, 3.0 Ηζ);  

ΕΙ Μασσ: m/ζ 119 (100%); 57 (80%). 

(Α) 

 

(Β) 

 

(Χ) 

 

(D) 
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Θ.38 Τηε mαϕορ προδυχτσ X ανδ Y φορmεδ ιν τηε φολλοωινγ σψντηετιχ σχηεmε, αρε 

 

O
N
H

cat. H+
1.

2.

O

3. H+, H2O

4. aq. NaOH, heat

X

(CH3)2S CH2

Y

,

benzene (solvent)

 

 

(Α) 

 
 

 

(Β) 
O

X = Y =

O

 
 

 

(Χ) 

 
 

 

(D) 
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Θ.39 Τηε mαϕορ προδυχτσ S ανδ T φορmεδ ιν τηε φολλοωινγ σψντηετιχ σχηεmε, αρε 

 

 
 

 

      

(Α) 

 

 
 

 

(Β) 

 

 
 

 

(Χ) 

 

 
 

 

(D) 
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Θ.40  Αmονγ τηε φολλοωινγ, τηε τρανσφορmατιον(σ) τηατ χαν βε αχχοmπλισηεδ υσινγ υmπολυνγ χονχεπτ 

ισ(αρε)    

 

 

    

(Α) (ι) ανδ (ιιι) (Β) (ιι) ανδ (ιϖ) 

(Χ) (ιι) ονλψ (D) (ι) ανδ (ιι) 

 

 

 

 

 

Θ.41 Α δισαχχηαριδε δοεσ ΝΟΤ γιϖε α ποσιτιϖε τεστ φορ Τολλεν∋σ ρεαγεντ. Υπον αχιδιχ ηψδρολψσισ, ιτ γιϖεσ 

αν εθυιmολαρ mιξτυρε οφ τωο διφφερεντ mονοσαχχηαριδεσ, βοτη οφ ωηιχη χαν βε οξιδιζεδ βψ βροmινε 

ωατερ. Τηισ δισαχχηαριδε ισ 

 

(Α) 

 

(Β) 

 
 

(Χ) 

 

(D) 
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Θ.42 Τηε mαϕορ προδυχτσ M ανδ N ιν τηε φολλοωινγ ρεαχτιον σεθυενχε αρε 

 
O

H3C H

CH3H3CO

LiPPh2
M

CH3I
N + PPh2O

CH3
+ LiI

 

  

(Α) 

 

 
 

(Β) 

 
 

 

(Χ) 

 
 

 

(D) 
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Θ.43 Τηε mαϕορ προδυχτσ P ανδ Q ιν τηε φολλοωινγ ρεαχτιον σεθυενχε, αρε 

 

 

 
 

  

(Α) 

 
 

 

(Β) 

 
 

 

(Χ) 

 
 

 

(D) 

 
 

 

 

Θ.44 Τηε mαϕορ προδυχτ φορmεδ ιν τηε φολλοωινγ ρεαχτιον, ισ  

 

 
 

(Α) 

 

(Β) 

 
 

(Χ) 

 

(D) 
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Θ.45 Τηε φολλοωινγ σψντηετιχ τρανσφορmατιον χαν βε αχηιεϖεδ υσινγ  

   

 

(Α)      (π) ονλψ 

(Β)      (π) ανδ (θ) 

(Χ)      (θ) ανδ (ρ) 

(D)      (ρ) ονλψ 

 

 

 

Θ.46 Χονσιδερ α τωο−στατε σψστεm ατ τηερmαλ εθυιλιβριυm ωιτη εθυαλ δεγενεραχψ ωηερε τηε εξχιτεδ στατε ισ 

ηιγηερ ιν ενεργψ τηαν τηε γρουνδ στατε βψ 0.1 ες. Τηε ρατιο οφ τηε ποπυλατιον οφ τηε εξχιτεδ στατε το 

τηατ οφ τηε γρουνδ στατε, ατ α τεmπερατυρε φορ ωηιχη κΒΤ = 0.05 ες, ισ _________. 

 

Θ.47 Οφ τηε ϖιβρατιοναλ mοδεσ γιϖεν βελοω, τηε ΙΡ αχτιϖε mοδε(σ) ισ(αρε) 

 

 

(Α) (ιι) ονλψ (Β) (ιιι) ονλψ (Χ)  (ι) ανδ (ιι) (D)  (ιι) ανδ (ιιι) 

 

 

Θ.48  Α σψστεm ισ δεσχριβεδ βψ τηε φολλοωινγ ρεαλ ωαϖεφυνχτιον. 

 

 
 

Τηε προβαβιλιτψ (Π) οφ φινδινγ τηε παρτιχλε ιν α ρεγιον δξ αρουνδ ποιντσ Ι, ΙΙ, ανδ ΙΙΙ ιν τηε φιγυρε 

οβεψσ τηε τρενδ 

 

(Α) Π(Ι) > Π(ΙΙ) > Π(ΙΙΙ) (Β) Π(ΙΙ) > Π(ΙΙΙ) > Π(Ι) 

(Χ) Π(ΙΙ) > Π(Ι) > Π(ΙΙΙ) (D) Π(ΙΙΙ) > Π(Ι) > Π(ΙΙ) 
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Θ.49 Τηε τεmπερατυρε−χοmποσιτιον (Τ−ξ) πηασε διαγραm οφ τηε τωο−χοmπονεντ σψστεm mαδε οφ Ξ ανδ Ψ 

ισ γιϖεν βελοω. Ατ α τεmπερατυρε οφ 288 Κ ανδ σταρτινγ ατ τηε ποιντ Π, Ψ ισ αδδεδ υντιλ τηε 

χοmποσιτιον ρεαχηεσ Σ. Wηιχη οφ τηε φολλοωινγ στατεmεντσ ισ ΝΟΤ ΤΡΥΕ? 

 

 
 

(Α) Ατ Π, τηε σολιδ ανδ λιθυιδ αρε πρεσεντ ιν αλmοστ εθυαλ προπορτιονσ. 

(Β) Ατ Θ, τηε σψστεm ισ αλλ λιθυιδ. 

(Χ) Ατ Σ, τηε σψστεm ηασ mορε σολιδ τηαν λιθυιδ.  

(D) Ατ Ρ, τηε λιθυιδ ισ πυρε Ξ. 

 

 

Θ.50  Φορ α σψστεm συβϕεχτεδ το ονλψ Π−ς ωορκ, εντροπψ ισ γιϖεν βψ 

 

(ι)  െ ቀడீడ்ቁ௉         (ιι)  ቀడீడ௉ቁ்      (ιιι) െ ቀడ஺డ௏ቁ்       (ιϖ) െ ቀడ஺డ்ቁ௏ 

 

(Α) (ι) ανδ (ιι) (Β) (ι) ανδ (ιϖ) 

(Χ) (ι) ονλψ (D) (ιι) ονλψ 

 

 

 

Θ.51 Αχχορδινγ το Ιρϖινγ−Wιλλιαmσ σεριεσ, τηε νυmβερ οφ δ ελεχτρονσ φορ τηε φιρστ ροω τρανσιτιον mεταλ (Μ) 

ιον ηαϖινγ τηε ηιγηεστ οϖεραλλ σταβιλιτψ χονσταντ (λογ く) φορ [Μ(ΕDΤΑ)]2− ισ ________. 

    

 

Θ.52 Τηε mαγνιτυδε οφ τηε διφφερενχε ιν τηε χρψσταλ φιελδ σταβιλιζατιον ενεργιεσ, ιν ∆ο (ιγνορινγ παιρινγ 

ενεργψ), οφ [Φε(Η2Ο)6]
2+ ανδ [Φε(ΧΝ)6]

4− ισ _________. 

 

 

Θ.53 Τηε χαλχυλατεδ ανδ οβσερϖεδ mαγνετιχ mοmεντσ διφφερ χονσιδεραβλψ φορ αν αθυα χοmπλεξ οφ α 

λαντηανιδε(ΙΙΙ) ιον ασ α ρεσυλτ οφ λοω λψινγ στατεσ οφ ηιγη ϑ. Τηε ιον, αmονγ τηε φολλοωινγ, ισ 

 

(Α) Χε3+ (Β) Πρ3+ (Χ)  Ευ3+ (D) Ψβ3+  

 

Θ. 54. Ιν τηε ελεχτρονιχ σπεχτρυm οφ [ΧρΦ6]
3−, αβσορπτιον βανδσ οβσερϖεδ ατ 670, 440, ανδ 290 νm αρε, 

ρεσπεχτιϖελψ, δυε το τηε τρανσιτιονσ 

     

(Α) 4Α2γ ĺ4Τ1γ(Π),    4Α2γ ĺ4Τ1γ(Φ)   ανδ  4Α2γ ĺ4Τ2γ

(Β) 4Α2γ ĺ4Τ1γ(Π),    4Α2γ ĺ4Τ2γ        ανδ  4Α2γ ĺ4Τ1γ(Φ) 

(Χ) 4Α2γ ĺ4Τ1γ(Φ),    4Α2γ ĺ4Τ1γ(Π)   ανδ  4Α2γ ĺ4Τ2γ 

(D) 4Α2γ ĺ4Τ2γ,         
4Α2γ ĺ4Τ1γ(Φ)   ανδ  4Α2γ ĺ4Τ1γ(Π) 
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Θ. 55. Αmονγστ τηε φολλοωινγ, τηε γρουπ τηατ ισ βουνδ το τηε mεταλ ιον ιν χοενζψmε Β12 ισ 

     

(Α) mετηψλ 

(Β) χψανιδε 

(Χ) αδενοσψλ 

(D) ηψδροξψλ 

 

 

 

 

 

 
 

 

END OF THE QUESTION PAPER 
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